
−2

−1

0

1

2

0 1 2 ³ 3

r = −0.072 ,  P = 5.86 ´ 10−9

Activated eggs

−2

−1

0

1

2

0 1 2 ³ 3

r = −0.115 ,  P = 4.85 ´ 10−21

0−2h embryos(Dunn)

−2

−1

0

1

2

0 1 2 ³ 3

r = −0.114 ,  P = 2.17 ´ 10−24

0−2h embryos

−2

−1

0

1

2

0 1 2 ³ 3

r = 0.036 ,  P = 3.56 ´ 10−3

Activated eggs

−2

−1

0

1

2

0 1 2 ³ 3

r = −0.101 ,  P = 1.2 ´ 10−16

0−2h embryos(Dunn)

−2

−1

0

1

2

0 1 2 ³ 3

r = −0.049 ,  P = 1.35 ´ 10−5

0−2h embryos

−2

−1

0

1

2

0 1 2 ³ 3

r = 0.056 ,  P = 6.5 ´ 10−6

Activated eggs

−2

−1

0

1

2

0 1 2 ³ 3

r = −0.069 ,  P = 1.66 ´ 10−8

0−2h embryos(Dunn)

−2

−1

0

1

2

0 1 2 ³ 3

r = 0.003 ,  P =  0.796
0−2h embryos

−2

−1

0

1

2

0 1 2 ³ 3

r = 0.143 ,  P = 3.18 ´ 10−31

Activated eggs

−2

−1

0

1

2

0 1 2 ³ 3

r = −0.001 ,  P =  0.904
0−2h embryos(Dunn)

−2

−1

0

1

2

0 1 2 ³ 3

r = 0.122 ,  P = 8.85 ´ 10−28

0−2h embryos

Number of uORFs

TEuORF > 0

TEuORF ≥ 0.1

TEuORF ≥ 0.5

TE Cutoffs for 
translated uORFs

A

B

C

lo
g 2

(T
E C

DS
)

lo
g 2

(T
E C

DS
)

lo
g 2

(T
E C

DS
)


